IISDA -	Office	of the	Chief	Information	Officer

Title of Informa

## **SUMMARY OF INFORMATION COLLECTION**

USDA eAu

INSTRUCTIONS:

Use this form when a single information collection document involves multiple reporting and ecordkeeping requirements.

IDENTIFICATION OF RE	EPORTING AND RECORDKEEPPIN	G REQUIREMENTS	
SECTION OF REGULATIONS		DESCRIPTION	FORM NO(s) (If "none" so state)
(a)		(b)	(c)
PL-106-222	Register for any eAuth Account	Electronic Self-Registration for a USDA eAuthentication Account Customer registers for an eAuthentication account online from the eAuthentication web site.	None
PL-106-222	Complete additional information for Level 2	Electronic Self-Registration for a USDA eAuthentication with Identity Proofing Customer provides additional information for identity verification online from the eAuthentication web site.	None
PL-106-222	Visit LRA	Travel Time Required to Identity Proof After providing additional information necessary for identity proofing, customer travels to a USDA Service Center to manually validate their identity through a Local Registration Authority.	None
PL-106-222	OIDP	After providing additional information necessary for identity proofing, customer complete the Online Identity Proofing process.	None
Total			

Public Sector - Level 1 & 2 Registr	ıl	Pι							Ī	F	P	Pι	u	u	ıb	oli	ic	: 5	Se	ec	ct	to	r	-	L	e١	/6	ŀ	1	&	2	R	egi	st	r	Ē
Inc																																		In	d	i
State,																																S	tat	e,	, I	
Total N																															-	Γο	tal	١N	Jι	J

Change due to New Statute	
Change due to Agency Discretion	
Change due to Agency Adjustment	
Change due to PRA Violation	

ation Documen	t				OMB No.		
						0503-001	.4
thenticatio	n Service C	Customer Registr	ation		Date Prepa		
						###	
	>	(f) TOTAL		(h) TOTAL		(k) TOTAL	
	> .		= (e) Average		= (g) Average	€	= (j) Average
	>	(d) TOTAL		(f) TOTAL		(i) TOTAL	
			ANNUAL BI	JRDEN			
		REPORTS	1			RECORDS	
IO. OF ANNUA	NO. OF	TOTAL	HOURS	TOTAL	NO. OF	ANNUAL	TOTAL
RESPON-	RESPONSES	ANNUAL	PER	HOURS	RECORD-	HOURS PER	RECORD-
DENTS	PER	RESPONSES	RESPONSE	(Col. f & g)	KEEPERS	RECORD-	KEEPING
	RESPON- DENT	(Col. d & e)				KEEPER	HOURS (Col. i & j)
(d)	(e)	(f)	(g)	(h)	(i)	(j)	(k)
235,092	1	235,092	0.05	11,754.60			
72,912	1	72,912	0.05	3,645.60			
6,562	1	6,562	1.00	6,562.00			
0,302	1	0,502	1.00	0,502.00			
			_				
66,350	1	66,350	0.0800	5,308.00			
				27,270.20			

ation Form to Request	202,179
ividuals in Households	30,562
ocal, and Tribal Govts	2,351
ımber of Respondants	235,092

	Responses	Hours
Previous	173,088	13,598.00
Now	235,092	27,270.20

Differences	(62,004)	(13,672.20)

	0
	0
	(62,004)
	0

	USDA - Office of the Chief Information Officer	Title of Inform	nation Document					
SUMMARY OF	INFORMATION COLLECTION	USDA eAu	uthentication \$	Service Cu	stomer Regi	stration		
INSTRUCTIONS:		1		>	(f) TOTAL		(h) TOTAL	
Use this form when a sing	gle information collection document involves multiple reporting and			>		= (e) Average		
ecordkeeping requireme	nts.			>	(d) TOTAL		(f) TOTAL	
IDENTIFICATION OF R	EPORTING AND RECORDKEEPPING REQUIREMENTS					ANNUAL E	ANNUAL BURDEN	
SECTION OF REGULATIONS	DESCRIPTION	FORM NO(s) (If "none" so state)	NO. OF Monthly RESPON- DENTS	NO. OF RESPONSES PER RESPON-	REPORTS  TOTAL  ANNUAL  RESPONSES  (Col. d & e)	HOURS PER RESPONSE	TOTAL HOURS (Col. f & g)	
(a)	(b)	(c)	(d)	DENT (e)	(f)	(g)	(h)	
PL-106-222	Electronic Self-Registration for a USDA eAuthentication Account Customer registers for an eAuthentication account online from the eAuthentication website.	None	8,642	1	103,704	0.05	5,185.20	3 minutes
PL-106-222	Electronic Self-Registration for a USDA eAuthentication with Identity Proofing Customer provides additional information for identity verification online from the eAuthentication website.	None	2,891	1	34,692	0.05	1,734.60	3 minutes
	Travel Time Required to Identity Proof After providing additional information necessary for identity proofing, customer travels to a USDA Service Center to manually validate their identity through a Local Registration Authority.	None	434	1	5,204	1.00	5,204	1 hour
PL-106-222	After providing additional information necessary for identity proofing, customer complete the Online							
	Identity Proofing process.	None	2,457	1	29,488	0.17	4,914.70	10 minutes
	Assisting customers				41,519	0.17	6,919.80	
	Higher Access - LRA					1.10	5,724	
	Higher Access - OIDP					0.27	7,864	